Korsgr 19-5 2014




~ betonmur

~ Vejbump - vejdige

|~ Kronekote - Stenkastning

= Stenkastning

" Dige 1,0mride 1

" Dige 2, Omréde 1
" Dige 3, Omréde 3
~ Hofde, Omride 3

~ Strandfodret strand & klit




Vistit

W7 sti2+3 l__ e po o e S et i o L R Tt I e e e P T O R T
= TV/ERSNIT 2, 1:50

.~ betonmw

=) Vejbump - vejdige

= Stenkastning

i
Y

Dige 1,0mréde 1
/" Dige 2, Omrade 1
/" Dige 3, Omride 3

= Hofde, Omride 3

"~ Strandfodret strand & klit

. ral

[

I




TVARSNIT Y, 120

(=) betonmur
=) Vejbump - vejdige
[

Kronekote - Stenkastning

= Stenkastning
/" Dige 1,0mride 1
/" Dige 2, Omrade 1

/" Dige 3, Omrade 3

= Hofde, Omride 3
= strandfodret strand & klit

= ral
44

[







[~ tvaersnit

W7 stil

W7 sti2+3
=

-~ betonmur

=) Vejbump - vejdige

(-~ Kronekote - Stenkastning

= Stenkastning

/" Dige 1,0mride 1

/" Dige 2, Omride 1

/" Dige 3, Omride 3
-~ Hofde, Omrade 3
".I{J Strandfodret strand & klit

= ral

“







|-~ Vejbump - vejdige

— Kronekote - Stenkastning
~ Stenkastning

/" Dige 1,0mride 1

/" Dige 2, Omride 1

/" Dige 3, Omride 3

.~ Hofde, Omride 3

~ Strandfodret strand & klit






